

Exercises, Problems

$$\text{Base} = \frac{a(p)}{a(1)} = 1$$

$$\text{Base} = \frac{a(p)}{a(1)} = \frac{1}{a(1)}$$

$$\text{Base} = \frac{a(p)}{a(1)} = \frac{1}{a(1)^2}$$

$$\text{So Base} = \frac{1}{a(1)^2}$$

$$\log(p) = \log + \log(p)$$

$$\log(p) = \log + \log$$

$$\frac{1}{(p)} = \log + \frac{1}{(p)}$$

$$\text{Base} = \frac{1}{a(p)}$$

$$\text{Base} = \frac{1}{a(p)}$$

$$\text{Base} = \frac{1}{a(p)}$$

$$a = \log(p) \quad a = \log(p)$$

$$\frac{1}{a} = \log(p)$$

Equations

$$\text{Base} = \frac{a(p)}{a(1)} = 1$$

$$\text{Base} = \frac{a(p)}{a(1)} = 1$$

$$\log(p) = \log + \log(p)$$

$$\log(p) = \log + \log$$

$$\log(p) = \log + \log$$

Base

$$\log(p) = \log + \log(p)$$

$$\log(p) = \log + \log$$

$$\log(p) = \log + \log$$

$$\log(p) = \log + \log(p)$$

$$\log(p) = \log + \log$$

$$\log(p) = \log + \log$$

$$\log(p) = \log + \log(p)$$

$$\log(p) = \log + \log$$

$$\log(p) = \log + \log$$

$$\log(p) = \log + \log$$

$$\log(p) = \log + \log$$

Equations and Base

$$\log(p) = \log + \log(p)$$

$$\log(p) = \log + \log$$

$$\log(p) = \log + \log$$

$$\log(p) = \log + \log(p)$$

$$\log(p) = \log + \log$$

$$\log(p) = \log + \log(p)$$

$$\log(p) = \log + \log$$

$$\log(p) = \log + \log$$

$$\log(p) = \log + \log$$

$$\log(p) = \log + \log(p)$$

$$\log(p) = \log + \log$$

$$\log(p) = \log + \log$$